Student name:

3.10 — Logarithms

L. Write as a single logarithm.

2. (a) 3log2 +2log3 = logk

Find the value of k.

log25

(b) Find the value of .
log5

3. Simplify.

log9+3log2-2logb

4. (a) Find the value of log, 8.

(b) Write the following as a single logarithm.

5 logy=2log3+5log2

Find the value of y.

6. (a) Write as asingle logarithm.

(b) Make x the subject of y=log, x.

Answers Score:
log6 + log3 — log2
dog 9
k=02.....cc..........
2o,
Jog2
..... B
3log2 -log4+2log5
log 50
D288
log3+log4 —log2
log 6
x=.3
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7. (a) Write down the value of

(i) log 1000,

3
(ii) log 0.01.
....... T2
(b) Find p when
2log5—log2=logp.
p=.A23
g (a) Write 2log(x + 1) — log(x — 1) as a single logarithm. (x+1)2
T log. (.(x.—.:l.)). ........
(b) log;p =4 where p is an integer.
Find the value of p.
_ 8l
D =
Solve.
9.
logx +log5 —log25 = log 10
_ 50
X =
10 Solve the following equations.
(a) logx+log3=1logl2 4
X S
b) logx=3
(b) loga 1000
X S
(¢) 2logx—log5=1log20
x= 10
1 log y=2log3+3log2—logb
Find the value of y.
12
Y S
12.(a) 3=log,8
Write down the value of p.
2
D= e
(b) logl2 +log9 = glog2 + rlog3
Find the values of ¢ and r. 5
G = e
F= B,
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13. 3log2 —2log4 = logt
Find the value of'r.

14. (a) Find log:8 .

(b) Find p when log 3 + 2log 5= log p.

15. (a) Find the value of logg(%j ;

_logg
(b} .p - ]0g3

Find g in terms of p.

16. Find the value of
log,3

17. Find the value of

log4
(ﬂ} 10g S ]

(b) log,8.

18.(a) 2log3 =logk

Find the value of k.

(b) log5—log2=1logp

Find the value of p.

19. (a) Find log; 25.

(b) 2log3—-logS5=logp

Find p.

20. Find the value of x when 5log2—log8 = logx.
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i= 05 21
R ST (1]
b= 2]
A (1]
G= 2]
LOS [

2
......... S e 2
...... LS
k= 21
p=...2.'§ ......................... [2]
SN [
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21. Simplify.

22, @

(b)

23.(a)

(b)

24. (a)

(b)

25, (a)

(b)

26.

2log3 —310g2+210g%

Write down the value of log,3.

2log2+logll = logx.

Find the value of x.

Solve 3log2—2log5 = logx.

Solve log1,4 = %

Find the value of log,.5.

Simplify log63 —2log3.

2logx =3log4

Find the value of x.

logx+logu—logv =logp

Find p in terms of x, v and v.

3logy =2logx—logw

Find y in terms of x and w.

27. Solve.

(2)

(b)

log 9=2

2logx—log4 = log9

log X
........... NN )
1
.................. 2 1]
....... M 2]
0.32 or —
L. N [3]
s S (1]
1
2 1
log 7
o8 2]
.............. 8 e 2]
XU
v
.................................................... [1]
3 xZ
................................................... [3]
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28. 2logp = 3logx—logy

Find p in terms of x and y.

29. Solve.

2log3 —log2 =logp

30. Solve.

logx = 1+10g9—10g8+210g%

31.(a) logk = 2log3 — Slog2

Find the value of k.

(b) log,p=-1

Find the value of p.

32. (a) Find the value of » when log5+log3—log2 = logn.

(b) Find log,(3"%).

33. Solve the equation.

3logx—Ilog4 =4log?2

34.(2) Find log, (é)

(b) Solve logx+2log5 =logl5.
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D T e [3]
p= O 2]
= o e [3]

9
F= R 2]
P= 0 [1]
L 1]
...... L e [
X= ... A e [3]
.......... e 1T

15

..... 250500
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35. Find the value of
log 125.

36. logx = 2log3—5log?2

Find the value of x.

37. Solve.

(a) log,x=4

(b) 2logx—3log2 = log50

38. log48 +log 18 —2log24 = logt

Find the value of 7.

39, Solve.

log2x =5

40. 4logy+3logx =2

Find y in terms of x.

41. log vy =log h+log p—log x

Find y in terms of /, p and x.

(IR

......... 3 e 1T
9
I A [2]
= o S ]
= o2 [3]
2 or1sor15
= 2 3]
= .20000 [2]
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